[ Efficiency vs vertpos |
0.5

7L SRS N S— S—
| SRR S S— —
0,350 oo S S—
0.3
0.25
0.2
0.15
0.1
0.05

.................................................

.................................................

fa T Ly m
LRI pickh

o + +|4 0

11+ Ed B

Fl+ B

1072 107 1 10 10?

—=— /data2/legianni/BDT-vs-DNN/real-BDT/CMSSW_13_0_0_pre4/src/runrem/DQM_TT__mkFit_

Efficiend —— pQm_TT_ mkFitRETEST_

0.5 ; ; ; ; ;
e
0.4 . . . . .
0.35
0.3
0.25
0.2
0.15
0.1
0.05
.0

[y

9535

0.5 " T T T
e

L) S8 O e e
0 TS S R SO SO
0
T S S
R e
O L S AR SULE SR R ;

0.1

S5 =105 () é



	Contents
	Page 1


